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Problem solving for Mathematics

Answers
Draw a problem for each of these problems and then solve the problem.
1.	The time on a clock is 4 o’clock. 
	What is the larger angle between the hour and the minute hand?	240°

2.	A parcel delivery service delivers and collects parcels. 
	The driver leaves the depot with 15 parcels. 
[bookmark: _GoBack]	In the first town he delivers 8 parcels and collects 2 parcels. 
	In the second town he delivers 3 parcels and collects 7 parcels.
	In the third town he delivers 5 parcels and collects 1 parcel.
	In the fourth town he delivers 6 parcels and then he returns to the depot. 
	How many parcels does the driver return to the depot with?	3 

3.	A regular hexagon has sides of length 7 cm. 
	An equilateral triangle is drawn on each side. 
	What is the perimeter of the star shape that is made?	84 cm

4.	A hotel has 3 floors.
	The first floor has 3 corridors, each with 5 rooms. 
	The second floor has 2 corridors, each with 4 rooms. 
	The third floor has 3 rooms. Total rooms = (3 × 5) + (2 × 4) + 3 = 26
	On Saturday 17 rooms are booked.
	How many rooms are not booked.  Rooms not booked = 26 – 17 = 9 

5.	A rectangular flower bed measures 1.2 m by 2.8 m. 
	A gardener puts plants 20 cm apart around the edge. 
	How many plants does she use?	40

6.	What angle does the minute hand on a clock move through from 1.50 pm to 2.10 pm? 120°

7.	A coach sets off with some people on it. 
	At the first stop, 3 people get off and 7 people get on. 
	At the second stop 6 people get off and 11 people get on. 
	At the third stop 12 people get off and 1 person gets on. 
	There are now 31 people on the coach. 
	How many people were on the coach when it set off?	33

[image: ]8.	A regular pentagon has vertices labelled A, B, C, D and E.
	Point M lies at the midpoint of the side CD, opposite vertex A. 
	Work out the size of angle BAM.	54°

[image: ]9.	A flag pole of height 24 m is cut into two pieces.  
	The larger piece is 4 m taller than the smaller piece. 
	Work out the heights of the two pieces.	10 m and 14 m

[image: ][image: ]10.	A shape is made from a rectangle, with two semi-circles and two identical triangles as shown.

	Work out the area of the shape.
	Give your answer to 2 decimal places.	83.27 cm²
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